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2H: BEEMY
dM: GAHEE 25
el OIMESAZEES (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHsSAEES 11,906 10,889 1,017
< 2,474
s 9,432
s - AESEs72Y DA E5& HiX 8,246 7,229 1,017
< 2,474
s 5,772
101 1A dl 8,246 7,229 1,017
< 2,474
[ia 5,772
04 JIZHHZ2XNHEE S 8,246 7,229 1,017
O Old S.A2853 NEHZA Es@
8,246,000 » 1H 8,246
< 2,474
s 5,772
OHMEAZE 28 ZE . MHA A 2,360 2,360 0
101 @124l 1,000 1,000 0
04 JIZHHZ2Z2XNSE =+ 1,000 1,000 0
O Ods=E s8HEZEER =)
50,0003 = 53 » 4« 1,000
202 4 Hl 1,360 1,360 0
01 = LH 4 HI 1,360 1,360 0
O OrdsS=Tlol &el & g§sHs S
40,000% * 2H * 173l 1,360
OrME= A 1,300 1,300 0
202 oddl 400 400 0
01 = LH o4 1l 400 400 0
O ROt sS= M =
20,000& = 2% = 103 400
206 M= Hl 900 900 0
01 M2 4l 900 900 0
O OMES I8 ABETY S
25,000& = 13l » 12& 300
O OHMS2(S4, 28]) H07Y S
20,000& * 30% 600
Or4 = = 10| of Ol 2 82,753 18,670 64,083
= 11,420
< 18,884
s 52,449
O == TloH Ol A 10,300 10,300 0
301 LBEXZ 10,300 10,300 0
09 HALAHIX A S 300 300 0
O ordsS= malole 2t=sl 300,000& = 13 300
12JIE243 10,000 10,000 0
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dM: GAHEE 25
Sl O SSIiohoe (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O RoliClMS=2 JIsZEE &3l
10,000,000& * 13l 10,000
Ol sSSIois AL (BX) 22,840 4,340 18,500
= 11,420
[ia 11,420
402 2I2H X201 M 22,840 4,340 18,500
= 11,420
s 11,420
02 QI 2 A EZ(OI XM TH ) 22,840 4,340 18,500
O Ot ES 2 Il A (el2th)
38,066,000& = 60/100 22,840
= 11,420
s 11,420
OMsSE s&S HolEH 15,000 4,030 10,970
< 4,500
[ia 10,500
301 LB AF 15,000 4,030 10,970
< 4,500
s 10,500
12 JIEHE4 = 15,000 4,030 10,970
O ordsS=0l 2t s&S Ildl 2o=
1,000,000& * 159 15,000
< 4,500
s 10,500
OlMsSE Z2H =8FEEE NFAY 5,313 0 5,313
< 1,594
[ia 3,719
307 21201 A 5,313 0 5,313
< 1,594
[ia 3,719
(=== 5,313 0 5,313
O odsS=ZE2t 8283 X
231,000& = 239H 5,313
< 1,594
s 3,719
SHOIMEE T2 ZANS 9,300 0 9,300
= 2,790
s 6,510
301 LeEAF 9,300 0 9,300
< 2,790
[ia 6,510
12JIE243 9,300 0 9,300
O RoliCtds=E Zelzds XA
50,000& = 1860t2 9,300
< 2,790
[ia 6,510
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dM: GAHEE 25
©?: orMsS S0 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OFMSE THMTAE NFMD(ZEE) 20,000 0 20,000
< 10,000
s 10,000
206 M= dl 20,000 0 20,000
< 10,000
s 10,000
01 =8l 20,000 0 20,000
OS2 ZEE AXXNIAAZ
2,000,000& = 1004 20,000
< 10,000
s 10,000
NAEH 826,244 1,307,895 A 481,651
< 100,000
= 726,244
ME ST AAY 434,462 201,700 232,762
201 Let24d] 20,000 20,000 0
01 At 22/l 20,000 20,000 0
O 2g8=¢ 20,000
— MEZY 2435 MOt 24l
250,000& = 4%H = 203l 20,000
401 Al HI 2 28I 414,462 181,700 232,762
01 A& HI 411,425 181,160 230,265
O 220 BHALZH HSE 2R AdAEAHES
100,000,000& * 14l 100,000
O 28e MEHZJ HHI2FHUIALY
74,1672 * 600m * 98.92/100 44,020
O ZEY MEI2Y YERY 2L T4
40,000,000& * 1JHZ4 + 98.92/100 39,568
O MEHHME 2 =8 =2 HHIAY
588,000& * 170m * 99.10/100 99,061
O =& 2854 &gz & Sl FUHE =4
100,000,000 * 99.10/100 99,100
O 220 MEZRA O3 &M 2 B
30,000,000 * 14l * 98.92/100 29,676
03 AIE 2 0HHI 3,037 540 2,497
O 28E MEHZJ HHI2FHUIAY
74,1673 = 600m * 1.08/100 481
O 220 MEZR X2 T84 =4
40,000,000& = 1Jf4 * 1.08/100 432
O MEHHME 2 =8 =2 HHIAY
588,000& = 170m = 0.9/100 900
O =2& 283&4 Az ¥ SuFiE 24
100,000,000 = 0.9/100 900
O MEZ2 o3 =M ¥ 24
30,000,000 = 14l * 1.08/100 324
MEfS A 2l 183,782 96,195 87,587
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
101 14 Hl 87,783 38,045 49,738
M4 IIAH2ZRNES S 87,783 38,045 49,738
O dejsd2el AR 22,679
- Jl=s 68,7203 * 200 = 1H 13,744
- =54 68,7203 = 52 » 1H 3,574
- 52 68,7203 * 522 « 19 + 1.5 5,361
O 28 MESE D20 A 49,104
— ZUHA 100,000& = 24 » 20 48,000
- 1EE2E 48,000,000& = 1.5% 720
— MWEE 48,000,000& = 0.8% 384
O BR=22 =) URY
100,000& * 25¢ » 44 10,000
O MHIERAZ22(=Z%, &=HAH)AR2Y
100,000& » 5% = 42 « 33| 6,000
201 LEr2 Y| 41,421 33,590 7,831
01 At 22l 26,750 25,750 1,000
O L=t 24,000
— Z¥&e ABF P2 900,000 123 10,800
— STUH ANESsE+ 3772
1,000,000 = 13l 1,000
— dEfsd 22 MDD =HE2 S 7L
100,000& * 12& 1,200
— MgJl &M 10,000, 000& 10,000
— of&lt8 #EDNo 2 ¢
500,000& = 29H 1,000
Og x = 2,750
— Mddl =H&H 4= 550,000& * 53 2,750
02 =24l 10,671 7,840 2,831
O 332= % HMA 10,271
— MH3¥ ZAXH HIIR=S
560,000& = 12& 6,720
— MEZd 22 dolxE 22
120,000& * 128 1,440
— QIHY M3l AMEZ 75,900 x 123 911
— g 4o 2=FISAE HIIR=s
100,000& » 12& 1,200
O AM&&EHIs Xl 400
— CCTV R XNE= 25,0003 = 4CH = 43 400
03 A2 S HI 4,000 0 4,000
O 280 MBS XAHASANEAN HRUS 4,000
— W=H| 10,0003 = 80AI2F = 5 4,000
202 oddl 4,560 4,560 0
01 SLHOIYI 4,560 4,560 0
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
O ZqeH MEyZJ 2tel #ixior
60,0003 = 3% = 43 720
O 220 MEEZH 2e]
20,0003 = 2H » 96 3,840
206 M= Hl 1,098 0 1,098
01 M= 4l 1,098 0 1,098
O 2ZXoH MEl3d DEZU MAHAAME S
366,000& = 33l 1,098
301 LEd = 14,520 0 14,520
1224 = 14,520 0 14,520
O TP MEZH NHSANEA BIX 14,520
- =g 60,0008 = 52 * 2¢& « 29 12,480
- =&Y 8 60,000& = 17 = 2H 2,040
401 Al HIZ 201 Y] 34,400 20,000 14,400
01 A& HI 34,400 20,000 14,400
28 DAZU MHAS
2,000,000& = 13l 2,000
O MEHZBd SN2l At 32,400
— O D] 1,500,000 * 23| 3,000
- ==y 4,800,000& = 33l 14,400
- SZX4 4,500,000& = 23| 9,000
— =2 =S¢ I 3,000,000& = 23| 6,000
AHS32el 8,000 10,000 A2,000
201 Lt 8,000 10,000 A 2,000
01 At 22l 8,000 10,000 A 2,000
oY x = 8,000
— EE4N PSS ZEZU FUHE A=
8,000,000& = 14 8,000
A0 MEfSHAH T HAIS (X&) 100,000 0 100,000
< 100,000
401 AIEHI L 20 100,000 0 100,000
< 100,000
01 A& HI 99,280 0 99,280
O Z&oh ME2dAH ZdAY
100,000,000 * 99.28/100 99,280
< 99,280
03 Al S HHI 720 0 720
O Z&oh ME2dAH ZdAY
100,000,000 * 0.72/100 720
= 720
2RO MEIZ2dAH ZHAS(XHA) 100,000 0 100,000
401 Al BIZ 201 8] 100,000 0 100,000




AN IS4
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ool B (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 A& HI 59,280 0 59,280
O 220 MEIZ2HAH ZEAY
59,280,000& * 14 59,280
02 Zeltl 40,000 0 40,000
O 2O MESAE ZAANY 228
40,000,000& * 14l 40,000
03 AIE 2 0HHI 720 0 720
O 280 MEiZHAAH ZHAS
100,000,000 = 0.72/100 720
HIIZ 2cl 4,962,015 2,524,810 2,437,205
= 2,107,419
< 92,202
= 2,762,394
HJl=2tal 4,132,418 1,858,165 2,279,253
= 2,107,419
< 92,202
s 1,932,797
SFEEHIS S 1,473,410 1,174,608 298,802
201 £B-2dH| 370,480 169, 110 201,370
01 At 22/l 246,880 113,960 132,920
O ger==&Hl 244,880
— HEd s =2 A
350,000& * 123] 4,200
— OHEE BiAM=, Xats =ZE2ZAH(ZD])
670,000& * 43| 2,680
- HYE =25 & 2Y
90,000& = 501 = 23l 900
— AYANH BEIUAA 248
1,300,000& * 13l 1,300
— AYANM HEISTAN £42
1,200,000 * 13l 1,200
— AAANE 2 BETUM(HSH])
2,000,000& * 113 22,000
— AANE BE NS DU 242
1,250,000& * 128 15,000
— AANE SALAERH LT
375,000& » 12& 4,500
— AAE BIIRY NIEH HBL+R
2,692,300& * 52 140,000
— AZNE OOSUEE (esss
6,000,000& = 13l 6,000
— A2ZAE 2 FIIHA
1,900,000& * 13l 1,900
— 22TAIE HIAHH SIEHA el
520,000& * 50& 26,000
— EZFIHH 298 225 P4
1,500,000& * 8& 12,000
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SH: BAEMY
M HII=E 2
& HolS2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— 203 M2 UE A
1,800,000 * 43| 7,200
O S&l 2,000
— MEMY I A 38,460 * 52= 2,000
02 =224l 123,600 55,150 68,450
O 33223 ¥ HA 29,100
— BEESHEH Molx2ER3
2,400,000 * 12& 28,800
— S EHEH SAaLSH
12,500 = 200 =12& 300
O ¢=dl 64,500
— 2ZTAE HZ2l 2,000& = 4,050 8,100
— SZESEEH &=2t22%I1(LPG)
35,000& * 1004 350
— 2FA YIIA U A2
2,000& = 2004 =« 63l 2,400
— HIISXHERY3(42)
10&8 = 3,610,000kg 36,100
— HIISHES2E3(0HE)
15& = 1,170,000kg 17,550
O AM&&Hl Xl 30,000
— MHE®, 88F, A2E A4 74
10,000,000& * 34 30,000
203 YR =&t 6,500 6,500 0
03 Al Z=A Y 2= 6,500 6,500 0
O &z3d3st sgus =2 6,500,000& 6,500
206 M= Hl 77,390 65,090 12,300
01 =8l 77,390 65,090 12,300
O g33stdy E5A 70,0002 * 200 14,000
O MEgdE 25243 23,000& = 1,0004 23,000
O A2AE 2943 6,600
— F&H 550,000& = 123 6,600
O A2AE 2= 33,790
— HAEE 1,500& = 4,000kg 6,000
- T, ¢ 53,000& * 303 1,590
— gEE8 28 57,000& = 1004 5,700
— shot ball 2,000& = 5,000kg 10,000
- E4E 3,500& = 3,000kg 10,500
301 LeBAF 26,400 26,400 0
12 JIEtE 43 26,400 26,400 0
O S33stdH FeZAl
1,100,000& * 2% * 123 26,400
307 21201 A 666,240 624,230 42,010




2H: BEEMY
M HII=E 2
& HolS2el (&)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 666,240 624,230 42,010
O 22tAIE 28298l 55,520,000& = 12& 666,240
401 AIEHI L 20 326,400 283,278 43,122
01 A& HI 325,680 282,558 43,122
O A2AE 2FSX HEH WA
150,000& * 15000 * 23| 45,000
O WAL BZ(B&=, Xot=, M=) »
H 1,000,000 * 5CH 5,000
O 1XeAaa 2 228 oHUSH Wats WX
140,000,000& * 14 140,000
O HWEHAD Ze 2= 18,000,000& * 14 18,000
O BZISHH RAEx(HEE, 22, A
g2& &) 100,000,0009 * 141 = 99.28/100 99,280
O Faxg oet2em &1
2,300,000& = 8CH 18,400
03 AIE 2 THHI 720 720 0
O BZISHH RAEx(HEE, 22, o
g% 3) 100,000,000 = 14 * 0.72/100 720
MESZ MHEX 22 9,300 9,300 0
101 @124l 2,800 2,800 0
04 JIZHHZ 2RSS E S 2,800 2,800 0
O ArEEZ HEX 22l
70,0003 = 22 * 109 = 23 2,800
201 Let24d] 6,000 6,000 0
01 At 2teltl 6,000 6,000 0
O Let==8H| 6,000
— ANESSHEH =8 Xdots A
1,500,000& * 43| 6,000
206 M= Hl 500 500 0
01 M= 4l 500 500 0
O AHEZE2 MHEX U2 HZ=0I
10,000& = 25 * 23| 500
Hess =328 Ml 13,250 11,900 1,350
206 M= Hl 13,250 11,900 1,350
01 =8l 13,250 11,900 1,350
O Hegss & Heas el
300,000& = 2004 6,000
O HAEXNY & HAxSE +
100,000& * 504 5,000
O MegsEs Zel=H 22 4,500& * 5004 2,250
HIIZE =H Hd3 5,000 5,000 0
206 M= Hl 5,000 5,000 0
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Mz Hol2 2el
& HolS2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 M= 4l 5,000 5,000 0
O gsHIIE +T8E (0K S)
2,500,000& » A 23| 5,000
SO EM NI AL 878,020 538,500 339,520
2 439,010
< 87,802
s 351,208
308 AHAIEHHSOIA 878,020 0 878,020
2 439,010
< 87,802
s 351,208
1037/ 2S0HUHeBHEAEALS I 878,020 0 878,020
O =diOIE™elAY 3,440,000& * 200 688,000
= 344,000
< 68,800
2 275,200
O HAANE NEH A
4,270,000& * 30= 128,100
= 64,050
< 12,810
s 51,240
O HIZe S0IE HelA
1,720,000& » 36= 61,920
= 30,960
< 6,192
s 24,768
Sot& - ot MAJIFSALS 151,429 92,857 58,572
= 106,000
[ia 45,429
101 @124l 83,929 59,457 24,472
= 58,750
i 25,179
04 JI2ZtHZ22EE = 83,929 59,457 24,472
O ot - ot XAgd| = A2
83,929,000& * 14 83,929
= 58,750
s 25,179
201 2er2 Y| 64,500 31,000 33,500
=2 45,150
s 19,350
01 At 22l 64,500 31,000 33,500
O Yer+g| 64,500
— MYI =HEF? & F¢
5,000,000& = 14 5,000
= 3,500
s 1,500
— MYJl fIEA2 350,000& » 170& 59,500
= 41,650
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o 17,850
202 O4dl 3,000 2,400 600
= 2,100
s 900
01 = LH 4 Hi 3,000 2,400 600
O ot& - at7 Ao 2el
20,0004 = 2H « 753 3,000
= 2,100
s 900
SEHHE MelAte 44,000 21,000 23,000
= 4,400
< 4,400
s 35,200
301 EEMZ 44,000 21,000 23,000
= 4,400
< 4,400
s 35,200
12 JIEBHE4 S 44,000 21,000 23,000
O Z=HblE =A243 100,000 *» 4408 44,000
= 4,400
< 4,400
s 35,200
SZESHHMHEANE ZHAY 988,009 0 988,009
= 988,009
401 Al B2 28I 988,009 0 988,009
= 988,009
01 A& HI 966,897 0 966,897
O SZHSHH MHEANE ZHAY
966,897,000 * 14 966,897
= 966,897
02 Zeltl 17,844 0 17,844
O SZHSHH MHEANE ZHAY
17,844,000& * 14 17,844
= 17,844
03 A& =2 THHI 3,268 0 3,268
O SZHSHH MHEANE ZHAY
,268,000& * 14 3,268
= 3,268
SZESHEH A2ZAAE AXAY 570,000 0 570,000
= 570,000
401 Al Bl 28I 570,000 0 570,000
= 570,000
01 A& HI 560,538 0 560,538
O sty A2AE ZdALE
560,538,000 * 14! 560,538
= 560,538




2H: BEEMY
M HII=E 2
& HolS2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 Zeltl 8,037 0 8,037
O 83F3dH A2Ad ZEAY
8,037,000& * 14 8,037
= 8,037
03 A& S THHI 1,425 0 1,425
O 8333 EH A2Ad ZEAY
1,425,0002 * 14 1,425
= 1,425
Az 829,597 671,645 157,952
Med| S 62,000 62,000 0
201 £B-2%H| 12,000 12,000 0
01 At 22l 7,200 7,200 0
O et==ZH| 7,200
— WEHJI= =H AEHA HME
200& = 5,00001 = 13l 1,000
— MYDIESEH ZUEE =% HMH
60,000 * 200H 1,200
— HFadd cl=28 ME 5003 * 10,0000H 5,000
02 =24l 4,800 4,800 0
O 3322 % HMA 4,800
— MJl SYEI ©5E CCTV SH =
100,000& = 44! « 12& 4,800
206 TH2 Ul 50,000 50,000 0
01 T2l 50,000 50,000 0
O MYIIZYH 25 WM
300& = 83,33201 = 23l 50,000
Fa08 2= 3,500 3,500 0
303 L& 3 3,500 3,500 0
01 243 3,500 3,500 0
O 3Aa03 HdAX AS 3,500,000& =+ 13l 3,500
HAEH 2l 202,800 157,200 45,600
201 Let24E] 202,800 157,200 45,600
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202 o4l 2,240 2,240
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O Z2YUALA HHES S 0]
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IIEHARA(249]) 2Hl XA 48,000 48,000
& 9,600
= 38,400
301 et A= 48,000 48,000
& 9,600
= 38,400
12 JIEtE2 A= 48,000 48,000
O Jsds 24 29
1,000,0008 = 4% * 12€ 48,000
& 9,600
o 38,400
Y X MAISEI SFEZ HWAXS 1,820 1,820
& 550
= 1,270
206 M = H| 1,820 1,820
&< 550
= 1,270
01 X2 H| 1,820 1,820
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< 27,975
s 65,275
02 It M AHE L 93,250 0 93,250
O A7 &It &84 X
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= 450,000
HNECX ZAISMAE S22 K& 144,000 105,600 38,400
J| 144,000
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